MIAMI-DADE

MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy
Arrow United Industries, a division of Mestek, Inc.

450 Riverside Drive

Wyalusing, PA 18853

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER
reserves the right to revoke this acceptance if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model EA-52 5” Aluminum Louver System

APPROVAL DOCUMENT: Drawing No. 1685-1, titled “EA-52 Impact Louver System”, sheets 1 through
10 of 10, dated 12/19/2024, prepared by Arrow United Industries a division of Mestek, Inc., signed and
sealed by Wayne K. Helmila, P.E., bearing the Miami-Dade County Product Control revision stamp with the
Notice of Acceptance number and the expiration date by the Miami-Dade County Product Control Section.
MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 23-0713.10 and consists of this page 1 and evidence pages E-1, E-2, E-
3 and E-4, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

é@ NOA No. 25-0106.05
Expiration Date: January 6, 2026
02/19/25 Approval Date: February 27, 2025

Page 1



Arrow United Industries, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOAs

A. DRAWINGS “Submitted under NOA # 11-1117.10”
1. Drawing No. 1685, titled “EA-52 Impact Louver System”, sheets 1 through 10 of 10, dated
07/23/2009, with revision Al dated 11/08/2011, prepared by W. W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS “Submitted under NOA # 09-1015.09”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0305-09, dated 09/29/2009, signed and sealed by Vinu J. Abraham, P.E.
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0715-09, dated 09/30/2009, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS “Submitted under NOA #14-0513.07”
1. Wood screw calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 04/14/2014, signed and sealed by Warren W. Schaefer, P.E.

“Submitted under NOA # 09-1015.09”
2. Structural calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 10/06/2009, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS “Submitted under NOA #14-0513.07”
1. Statement letter of code conformance to 2010 and 5" edition (2014) FBC issued by W. W.
Schaefer Engineering & Consulting, P.A., dated 04/14/2014, signed and sealed by Warren W.
Schaefer, P.E.
2. No financial interest letter issued by W. W. Schaefer Engineering & Consulting, P.A, dated

04/14/2014, signed and sealed by Warren W. Schaefer, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.05

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



Arrow United Industries, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. Evidence submitted under NOA # 17-0713.05

A. DRAWINGS
1. Drawing No. 1685, titled “EA-52 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/2009, with revision B1 dated 07/05/2017, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 5™ Edition (2014) and 6™ Edition (2017)
FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated 07/05/2017,
signed and sealed by Warren W. Schaefer, P.E.

3. Evidence submitted under NOA #20-0622.16

A. DRAWINGS “Submitted under NOA # 19-0401.01”
1. Drawing No. 1685, titled “EA-52 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/2009, with revision C1 dated 03/14/2019, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.05

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



Arrow United Industries, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 6™ edition (2017) and 7" edition (2020) of
the FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated
06/03/2020, signed and sealed by Warren W. Schaefer, P.E.
“Submitted under NOA # 19-0401.01”
2. Statement letter of no financial interest issued by W. W. Schaefer Engineering &
Consulting, P.A., dated 03/14/2019, signed and sealed by Warren W. Schaefer, P.E.

4. Evidence submitted under NOA # # 23-0713.10

A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 6™ edition (2017) and 7 edition (2020) of
the FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated
06/03/2020, signed and sealed by Warren W. Schaefer, P.E.
“Submitted under NOA # 19-0401.01”

2. Statement letter of no financial interest issued by W. W. Schaefer Engineering &
Consulting, P.A., dated 03/14/2019, signed and sealed by Warren W. Schaefer, P.E.
3. Statement letter of code conformance to the 7™ edition (2020) and 8" edition (2023) of

the FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated
07/01/2023, signed and sealed by Warren W. Schaefer, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.05

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



Arrow United Industries, a division of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

S. NEW EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 1685-1, titled “EA-52 Impact Louver System”, sheets 1 through 10 of
10, dated 12/19/2024, prepared by Arrow United Industries a division of Mestek, Inc.,
signed and sealed by Wayne K. Helmila, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. Louver A520 anchorage calculations, prepared by Rice Engineering, dated
01/13/2025, signed and sealed by Wayne K. Helmila, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 8" edition (2023) of the FBC and of no
financial interest, issued by Rice Engineering, dated 01/14/2025, signed and sealed by
Wayne K. Helmila, P.E.
2. Verification test contract letter, issued by Intertek, dated 02/14/2025, signed by Austin
L. Wilcox, product engineer.

P

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.05

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



PANEL LOAD TABLE JAME ANGHORS TO SUBSTRATE PANEL ANCHOR SPACING/PRESSURE TABLE
(WITH SIDE CLIPS) SEE GORNER 80" MAX FRAME WIDTH PER ANCHOR REQUIREMENTS (WITH CONTINUOUS SIDE SUPPORT ANGLE)
CONSTRUCTION TABLE ON SHEET 1. SEE ANCHOR
PANEL (DOl | ALLOWABLE vkl (ALY A2 SPACING TABLE ON THIS SHEET ANGLE TO ANGLE TO LOUVER
SSURE 4 K4/ FOR SPACING & END DISTANCE.
(N) N) (+1- PSF) ON THIS SHEET S oANEL SUBSTRATE ANCHORS FRAME SCREWS ALLOWABLE
= \} N 5 PRESSURE
8 120 I A 292) WIDTHUND 1 soncing | ENDDIST, | SPACING | END DIST. | (+- PSF)
36 13 104 JAMB CLIP é é ;Spophgg::_lﬁqlés‘f—
AT SIDES [a] [a) ]
18 75 ONLY (NOT OPPOSITE 3 e .3 f g Lo g D (IN.) (IN.) (IN.) (IN.)
APPLICABLE Wi =0 Wms0
8 120 when  (BLY [ — BLOS a5zox [SIMILAR JAMB SPLICE WHEN o u u 2 129
42 13 89 LOUVERTS  \ 4 4 Vaouh £onb 781y REQUIRED FOR STACKING 36 13 712 7402 3304 104
SLEEVE = Foo W )
18 54 wounTesy (B2 WIc % X wrgd V4 (SEE SECTION A1/4 FOR 18 9 9 412 75
5 50 4/ o PO = = o R0 B2 DETAIL). SPLICE LOGATION 5 3 " 5 70
/53 ¥ % W, TO BE BETWEEN BLADES,
48 13 78 o P, :___4_1 1\_‘ I 42 13 7402 712 33/4 89
18 56 = /5 I e = 18 9 9 4172 64
8 120 z E—— I—‘—’J N 8 4 4 2 120
— — 48 13 7112 71/2 33/4
4 19 o9 Jame spLICE — | —| ALLOWABLE DESIGN — I PO S D ' 1 ! 8
18 50 WHEN REQUIRED — —1 grug = = 5 LOUVER (REF. 18 9 9 41/2 56
— PRESSURE S wes < S s Bf —LOUVER:
3 20 FOR STACKING wpSs ¥ wis o [LouvER | — ELEVATIONS ON 5 ) 4 > 120
(SEE SECTION (SINGLE LOUVER PANEL) D505 8405 SHEET122)
60 13 62 Al/4 FOR DETAIL), - - Equd Eou® - 54 13 72 712 33/4 69
SPLICE LOGATION — SEE "PANEL LOAD TABLE" -~ wighk . WEgX [ 18 ] ] 412 50
8 45 JAN 3 U 2025 TO BE BETWEEN | ON THIS SHEET FOR % a E 5] g N ;E % = 9_ o 5 p f
(1) CLIP SPAGING WITHIN SLEEVE BLADES. "] ALLOWABLE PRESSURE, [ ] ¥ & 4 2 120
MOUNTED LOUVERS MAY NOT VARY AND - L 60 13 7112 712 33/4 62
SHALL ALWAYS BE 8", C 18 3 9 T pr
SUPPORT ANGLE TO LOUVER FRAME CONNECTION
< SCREW, SEE ANCHOR SPACING TABLE ON THIS
GENERAL NOTES SHEET FOR SPACING & END DISTANCE.
1) THESE LOUVER SYSTEMS HAVE BEEN TESTED, ANALYZED, & APPROVED FOR DESIGN PRESSURES NOT TO EXTERIOR ELEVATION. NOTE: SINGLE LOUVER PANELS MAY BE
, \ INTERIOR ELEVATION:
EXCEED THOSE SHOWN IN THE ALLOWABLE DESIGN PRESSURE TABLE(S), SINGLE WIDE LOUVER PANEL OPTIONAL SIDE JAMB INSTALLATION WITH STACKED/SPLICED VERTICALLY OR THE
(ARCHITECTURAL & NON-ARCHITECTURAL) ( LOUVER PANEL MAY RUN VERTICALLY TO

2)  OPENINGS, BUCKING, & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER SCALE: 1/2" = 40" CONTINUOUS SIDE ANGLES) (FOR DETAIL NOT SHOWN INFINITE HEIGHT PROVIDING OPENING IS
WIND LOADS TO THE STRUGTURE. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE SCALE: 1/2" = 1-0" .

STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE SEE OTHER ELEVATIONS) PROPERLY DESIGNED BY OTHERS TO
LOUVERS, SUPPORT THE LOUVER PANELS.
ANC EQUIREMENTS TABLE

3  ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY RICE HOR REQUI
UNLESS SPECIFIGALLY MENTIONED ON THE DRAWINGS, SPECIFIED ANCHOR EMBED TO BASE MATERIAL NEERING JAMB ANGHORS
SHALL BE BEYOND WALL FINISH OR STUCCO. ENGINE, SLEEVE SPLICING NOTE .

105 School Creek Trail SUBSTRATE FASTENER ‘SQ'IXCPISE MIN.EMBED | MIN. EDGE VE SPLICING NOTE FOR SLEEVE MOUNTED LOUVERS:

4)  THE DETAILS & SPECIEICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR Luxemburg, Wi 54217
IMPACT, CYCLIC, & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING Phone: (926) 617-1042 WOOD {MIN. GR. 3 & G=0.55) 1/4" DIA. S.S. LAG SCREW 2 2.3/8" 1-1/2% SLEEVE MAY BE SPLICED ALONG HORIZONTAL OR
CODE PROTOCALS TAS-201, 202, & 203 FOR LARGE MISSILE IMPAGT LOLVERS. Fax: (920) 617-1100 A36 STEEL (MIN. 1/8" THK.) 1/4-14 300 SERIES Fy=65ksi S.5. SCREW 2 FULL 12" VERTICAL RUNS PROVIDING SPLICE DOES NOT OCCUR

5  THESE LOUVER SYSTEMS HAVE BEEN DESIGNED IN ACCORDANGE WITH AND MEET THE REQUIREMENTS OF www.rice-inc.com METAL STUD (MIN. 16 GA. 33 KSl) 1/4-14 300 SERIES Fy=65ksi S.S, SCREW 2 FULL 12" WITHIN 12" OF ANY VERTICAL MULLION CENTERLINE.

THE FLORIDA BUILDING CODE (FBC) INGLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ). Florida Firm No: F-01000005061 ALUMINUM (MIN. 1/8" THK. 6063-T5)  |1/4-14 300 SERIES Fy=66ksi S.S. SCREW 2 FULL 12"
Certificate of Authorization: #9090 " "
6)  IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE LOUVER SYSTEMS. Wayne K. Helmila GMU (MIN. G-50) 1/4 300 SERIES S.5. MASONRY SCREW 2 2 4
Reglstration No: 53092 CONCRETE (MIN. 4000 PS}) 114" DIA. S.S. WEDGE ANCHOR 2 1.3/4" o CORNER & BLADE END CONSTRUCTION:

7)  ALL ANGHORS SECURING LOUVER FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CONCRETE A 3000 PSI " : ..

CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD. [ALT] (MIN. ) 818" DIA. S.5. CONCRETE SCREW ! 2 2 FRAME HEAD: HORIZONTAL MEMBER IS SQUARE CUT
NON-REINFORGED MULLION END CLIP ANCHORS CRAVE: MEAL. ,

8)  DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN BUTTED TO VERTICAL MEMBERS, & FASTENED WITH
ACCORDANGE WITH THE GOVERNING CODE AND GOVERNING WIND VELOGITY. FOR WIND LOAD SUBSTRATE FASTENER QTY PER GLIP| MIN.EMBED | MiN. EDGE TWO (2) NO. 7 X 1-1/4" SMS HEX HEAD SCREWS INTO
CALCULATIONS IN ACCORDANCE WITH THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF KD = 0.85
MAY BE APPLIED PER THE ASCE-7 STANDARD. WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA, S.S. LAG SCREW 8 2.3/8" 1-1/2" THE HORIZONTAL MEMBERS SCREW SPLINES.

A36 STEEL (MIN. 1/8" THK.) 1/4-14 300 SERIES Fy=65ksi 5.5, SCREW 8 FULL 12"

9)  NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT. WIND LOAD - — - FRAME SILL: VERTICAL MEMBERS ARE ANGLE CUT

DURATION FACTOR G = 1.6 WAS USED FOR WOOD SOREW ANALYSIS ONLY. METAL STUD (MIN. 16 GA. 33 KSI) 1/4-14 300 SERIES Fy=65ksi S.S. SCREW 8 FULL 112 BUTTED To HORIZONTAL MEMBER. & FASTENED WI,TH
ALUMINUM (MIN. 4/8" THK. 6063-T5) | 1/4-14 300 SERIES Fy=65ksi S.S. SCREW 8 FULL 12" M ,

10) MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER CONCRETE [MIN. 4000 PS]) 14 DIA. 5.5, WEDGE ANCHOR 8 T o TWO (2) NO. 7 X 1-1/4" SMS SCREWS INTO THE

DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE GHAPTER 20. O VERTICAL MEMBERS SCREW SPLINES.
‘ CONCRETE [ALT.] (MIN, 3000 PSI) 3/8" DIA. S.S. CONCRETE SCREW 8 212" 3-1/2"

11)  EACH LOUVER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS: TUBE MULLION END GLIP ANCHORS BLADE END: HORIZONTAL BLADES ARE SQUARE CUT.
gg‘mﬁg”gg@g&"'gﬁ AND VENTILATING SUBSTRATE FASTENER QTY PER END | MIN.EMBED | MIN. EDGE BUTTED TO VERTICAL MEMBERS, & FASTENED WITH
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA. S.5. LAG SCREW 0 i e gXVAOD l(EzéchgEZNOSRPEIRE 8S X 1-1/4" SMS SCREWS INTO THE

12) THESE LOUVERS ARE NOT TESTED FOR WATER INFILTRATION RESISTANCE; THEREFORE THE LOUVERS ARE A36 STEEL (MIN. 1/8" THK.) 1/4-14 300 SERIES Fy=65ksi S.S. SCREW 8 FULL 12"

TO BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER 1S DESIGNED TO DRAIN WATER METAL STUD (MIN. 16 GA. 33 KSl) 1/4-14 300 SERIES Fy=65ksi S.S. SCREW 8 FULL 12"
zgr:ﬂgg&rmg lch)gcé JSELTEOSOM' AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT, ALUMINUM (VIN. /8" THK. 6063.5) [ 1/4-14 300 SERIES Fy=65ksi 5.5, SCREW 5 FOLL P
' CONCRETE (MIN. 3000 PSI) 1/2" 5.5, WEDGE ANCHOR 2 3-3/4" 5"

13)  MULLED PANELS MAY BE HORIZONTALLY INSTALLED TO AN UNLIMITED NUMBER. VERTICAL STACKING OF P oo P RIS E2 taioes oo e et B LarD POR T e D L ioR
MULLED PANELS MAY OCCUR PROVIDING A STRUCTURAL SUPPORT IS DESIGNED & INSTALLED BY OTHERS TO : C‘;/';S’e © screws sfia De '"' N H o stain eossés el taind | INSTALLATION OF ANY OTHER PRODUGT NOR MAY THEY BE USED
SUPPORT ALL LOADS TRANSFERED FROM THE LOUVER ASSEMBLY (SINGLE PANELS MAY RUN TO UNLIMITED § o ser e‘”: Sha'Lbﬁ . Em» Kggfe'Ga or HWH ?O e”els stainless steel. FOR RATIONAL ANDIOR LOGAL APPROVAL OF ANY PRODUGT NOT
HEIGHT PER ELEVATION IF NO MULLION EXISTS). - Wedge anchors shall be Hili KWIK Bolt TZ2 stainless steel. PR

4. GMU s applicable at jambs only. ODUGED BY THE MANUFACTURER STATED ON THESE DRAWINGS.
ARROW UNITED PRODUCT REVISED REVISIONS I PUSS ==
W U as compl‘):(ing with the Florida EA-52 IMPACT REV.] DATE | DESCRIPTION BY ||DRAWNBY: TG 1 of 10
Building Code
INDUSTRIES Bullding Code _ _ 106.05 LOUVER SYSTEM SHEGKES Y
A MESTEK COMPANY e ISCAL,{E:_ o
450 RIVERSIDE DRIVE Expiration Date 01/06/2026 1127 = 180
WYALUSING, PA 18853 7 REV.
This draeding and the Information comainad tharein fs tho property of MESTEK, Ino, By A ’] 6 8 5- 1
and cannot be rep;izxi)«::ssgwﬁx:g:;::rsgzg,go&éasl%\g:zir:gulhers without the Miami—Dade Product Control [——



Carlos Utrera
New Stamp


MULLION ALLOWABLE DESIGN PRESSURE
(NON-ARCHITECTURAL LOUVERS)

ALLOWABLE PRESSURE
Wt | s ono P
(IN) WIDTH (IN.) WITH NO TUBE | WITH 4" X 3" X 3/16" |WITH 4" X 3" X 1/4"
MULLION TUBE MULLION | TUBE MULLION
60 30.6 46.1 61.4
54 34.0 51.2 68.3
48 38.3 57.6 76.8
120 42 43.7 65.8 87.8
36 51.0 76.8 102.4
30 61.2 92.2 120.0
24 76.5 115.2 120.0
18 102.0 120.0 120.0
60 42,0 63.2 84.3
54 46.6 70.2 936
48 525 79.0 105.3
42 60.0 90.3 120.0
108
36 70.0 105.3 120,0
30 84.0 120.0 120.0
24 104.9 120.0 120.0
18 120.0 120.0 120.0
60 56.3 90.0 120.0
54 62.5 100.0 120.0
48 70.3 112.5 120.0
96 42 80.4 120.0 120.0
36 93.8 120.0 120.0
30 1125 120.0 120.0
24 120.0 120.0 120.0
60 64.3 120.0 120.0
54 714 120.0 120.0
48 80.4 120.0 120.0
84 42 91.8 120.0 120.0
36 107.1 120.0 120.0
30 120.0 120.0 120.0
60 75.0 120.0 120.0
54 83.3 120.0 120.0
72 48 93.8 120.0 120.0
42 107.1 120.0 120.0
36 120.0 120.0 120.0
60 90.0 120.0 120.0
54 100.0 120.0 120.0
60 48 1125 120.0 120.0
42 120.0 120.0 120.0
60 112.5 120.0 120.0
48 54 120.0 120.0 120.0
42 60 120.0 120.0 120.0
NOTES:;

1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH,

2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF THE PRESSURE SHOWN IN THIS

TABLE & THAT SPECIFIED FOR THE INDIVIDUAL LOUVER PANEL.

60" MAX FRAME WIDTH

60" MAX FRAME WIDTH 60" MAX FRAME WIDTH

A A2 p1Y'D2 Y D3 Y D4 Y D5
4 N4/ NIATZABABAL/
I i I
T ¥ ¥
[ OPPOSITE
(81 FY L FL)]
WE 4 Co JEY NEDZA] |
AN (B2 F2Y] F2 )]
N ; NEa : NEa ,
m o ul (B3 |
u é z 5/ ]
Gl @ —— ALLOWABLE DESIGN —
g &z - PRESSURE —
Z 4 — | | |
o2 : - (MULTIPLE ] ’
xJF —  NON-ARCHITECTURAL  |—
g2 — PANELS) ]
—] SEE MULLION -
| PRESSURE TABLE
t — ON THIS SHEET. — }
FOR LOCATIONS OF JAMB 4
CLIPS, SEE SINGLE PANEL
ELEVATION (NOTE THAT - MULLION LOAD WIDTH |+ MULLION LOAD WIDTH ———=]
FRAME SPLICE DOES NOT
PANEL PANEL PANEL
APPLY TO MULLED UNITS) CENTERLINE CENTERLINE CENTERLINE

EXTERIOR ELEVATION:
MULTIPLE LOUVER PANELS
(NON-ARCHITECTURAL)
SCALE: 1/2" = 10"

(3 PANEL UNIT SHOWN; MORE THAN

3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 25-0106.05

Expiration Date 01/06/2026

By £
Miami-Dade Product Control

)

g,

JAN 3 0 2025

K. /,
7 i <4,

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, W1 54217
Phone: {920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com
Florida Firm No: F-01000005061
Cartifinata nf Anthnrizatinn: #6000
Wayne K. Helmila
Registration No: 53092

CERTIFICATION

ARROW UNITED
INDUSTRIES

A MESTEK COMPANY
450 RIVERSIDE DRIVE
WYALUSING, PA 18853

“This draving aad the informatlon contained thereln Is the proparty of MESTEX, inc.
and cannot ba reproduced in whele or in part, nor defivered 1o olhers vdthout the
express viritten permission of MESTEX, Inc,

REVISIONS DATE: 19 DEG. 2024 SHEET No.:
EA"'52 IMPACT REV, DATE DESCRIPTION BY DRAWN BY: MTC ’ 2 Of 10
LOUVER SYSTEM SIS T —
[S% o |
REV,
1685-1



Carlos Utrera
New Stamp


MULLION ALLOWABLE DESIGN PRESSURE

(ARCHITECTURAL LOUVERS) |=—— 60-3/8" MAX FRAME WIDTH ———|~=—— 59-7/16" MAX FRAME WIDTH 60-3/8" MAX FRAME WIDTH —=] RI C 'E
(At A2y 1 (ciYcaYesN 1 ENGINEERING
MAX GAP MAX GAP
MAXIMUM | \iaXIMUM LOAD | ALLOWABLE PRESSURE N NNV 8 105 Schoo! Greek Trall
MULLION
SPAN (IN.) WIDTH (IN.) (+/- PSF) : ’ Luxemburg, W 54217
i T Phone: (920) 617-1042
60 61.4 ! | Fax: (920) 617-1100
54 68.3 ! ! OPPOSITE www.rice-inc.com
t i Florida Firm No: F-01000005061
120 48 768 (B1) 1 E E 1 EN ! — Certificate of Authorization: #9090
42 87.8 4 v L \8 /¥ Wayne K. Helmila
36 102.4 = /B2 I : Registration No: 59092
30 120.0 8 N f }
60 84.3 0 (B [ !
' S ! !
54 93.6
108 2 (s ) I—{ ALLOWABLE DESIGN —
% 1059 2 ; PRESSURE i
42 120.0 ! !
) i (MULTIPLE i
96 60 1200 S ‘ ARCHITECTURAL ,
i PANELS) N
NOTES: ] f
1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. I SEE MULLION !
2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF i PRESSURE TABLE i
THE PRESSURE SHOWN IN THIS TABLE & THAT SPECIFIED 1 ON THIS SHEET. i
FOR THE INDIVIDUAL LOUVER PANEL. ‘ n
; i
FOR LOCATIONS OF JAMB <4 4
CLIPS, SEE SINGLE PANEL
ELEVATION (NOTE THAT
FRAME SPLICE DOES NOT
APPLY TO MULLED UNITS)
EXTERIOR ELEVATION:
MULTIPLE LOUVER PANELS
(ARCHITECTURAL)
SCALE: 1/2" = 1"-0"
(3 PANEL UNIT SHOWN; MORE THAN
3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)
PRODUCT REVISED
as complying with the Florida
Building Code
NOA-No. 25-0106.05
Expiration Date 01/06/2026
By £
Miami-Dade Product Control
CERTIFICATION REVISIONS DATE: 16 DEG, 2024 SHEET No.!
ARROW UNITED EA-52 IMPACT REV.| DATE | DESCRIPTION BY |IDRAWNBY: 3of 10
MTC
INDUSTRIES LOUVER SYSTEM CHECKED BY:
JMC
A MESTEK COMPANY ISC1/>‘2"!'E = 10 l
450 RIVERSIDE DRIVE
WYALUSING, PA 18853 REV.
ke e o e S oL 1685-1
axpress written permission of MESTEK, Inc,



Carlos Utrera
New Stamp


SEALANT AND
BACKER ROD
BY OTHERS
. .
f SUBSTRATE BY
W OTHERS
Q
= CLIP ANCHOR PER
g ANCHOR REQUIREMENTS
TABLE ON SHEET 1
= O— O
o

A, % 13) JAMB CLIP

JAMB SPLICE
(MULLION SPLICE
IS NOT PART OF

THIS APPROVAL)

FRAME HEIGHT

EXTERIOR

112" MAX SPACE

INTERIOR

SUBSTRATE

/ BY OTHERS

(SHIM AS REQD)

e

(3) DRAIN PAN ~/

SEALANT AND

SUBSTRATE BY

/ OTHERS

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: (920) 617-1042
Fax: (920) 617-1100

www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

Wayne K. Helmila

Registration No: 59092

INTERIOR

EXTERIOR

FRAME
WIDTH

(81

BACKER ROD (29)
BY OTHERS
4 ! /_@
f o/ |
w 1/8" X 1" WELD
2 [ EACH SIDE
o
g CLIPIJAMB ANCHOR PER
@ ANCHOR REQUIREMENTS —
i TABLE ON SHEET 1
SUBSTRATE BY
OTHERS ~
SEALANT AND
““” BACKER ROD —]
3}&“ 1y 'y,, BYOTHERS
WK /
ae K He, Yy
A" A nnee (4/ 7
<4, N2
JAMB SPLICE (R
(MULLION SPLICE - .
£ IS NOT PART OF 5" MAX SPACE —
Q THIS APPROVAL) 9 A
2
18}
= SECTION
=
B
EXTERIOR INTERIOR

JAN 3 0 2025

1/2" MAX SPACE
(SHIM AS REQD)

(3) DRAIN PAN —/

N

CLIP/JAMB ANCHOR PER
ANCHOR REQUIREMENTS —¢
TABLE ON SHEET 1

SUBSTRATE BY
OTHERS )

SEALANT AND
BACKER ROD —

BY OTHERS \

SCALE: 3"=1-0" 4/
(NO SLEEVE & CLIPS TURNED OUT)

INTERIOR

EXTERIOR
BLOCKING & BED OF / \_ BY OTHERS PRODUCT REVISED 1 J FRAME
SEALANT BY OTHERS as complying with the Florida 2" MAX SPACE WIDTH
Building Code
N NOA-No. 25-0106.05 Jo
SECTION A SECTION A2 L SECTION B2
SCALE: 3" = 1'-0" SCALE: 3" = 1-0" @ Explratl;n Datew SCALE: 3" = 1-0" W
(SLEEVE MOUNT) By = 12 (NO SLEEVE & CLIPS TURNED IN)
Miami-Dade Product Control
CERTIFICATION REVISIONS DATE: 18 DEG, 2024 SHEET No.:
ARROW UNITED EA-52 IMPACT REV.] DATE | DESCRIPTION BY |/DRAWNBY: TG 4 of 10
INDUSTRIES LOUVER SYSTEM CHECKED BY: o
A MESTEK COMPANY SCALE . o I
450 RIVERSIDE DRIVE =

WYALUSING, PA 18853

Fhis draving and lhe Information contained therein Is the property of MESTEK, Inc.

and cannot be reproduced in whole or In part, nor deliverad to others without the
express written permission of MESTEK, Inc,

1685-1



Carlos Utrera
New Stamp


EACH EDGE
15" OF ANGLE
15
INTERIOR
SUBSTRATE BY _
OTHERS 25
SEALANT AND
BACKER ROD —~
BY OTHERS
1 /@
EXTERIOR
o . FRAME
112" MAX SPACE WIDTH
SECTION B3
SCALE: 3"=1-0" \5/

(WITH SLEEVE & CLIPS TURNED OUT)

EACH EDGE
OF ANGLE

INTERIOR

SUBSTRATE BY ]
OTHERS

SEALANT AND
BACKER ROD —+
BY OTHERS

SEALANT AND
BACKER ROD —

SUBSTRATE

/ BY OTHERS
A

7

AN

14

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE
ON SHEET 1 (4 PER CLIP)

/—@

R

BY OTHERS
f r 1
1 {
W | |
< | |
& i }
|
: | 1
: o)
i
L—N
v
A
“/ V'l .
EXTERIOR gi INTERIOR
27
-
5 r— /\ I
i | I
z { I
: | :
g ;
{
i
i
{
i
i
i
|
|
{
i
we i
O
85
S
w
%2
==
NI
=6

-

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, W1 54217
Phone: (920) 617-1042
Fax: {920} 617-1100
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila

Registration No: 59092

3
=
ULLION CLI
‘/\ XNCHgRSC(RZF.)
o o
~
R one
i ~®
l
e — — : /’< .
!
|
[&]
S | I SO —_
3 © &
=
O & {
ol
1
/\ —| e
2
g 7
o (FOR DETAIL NOT SHOWN,

TUBE MULLICN CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE
ON SHEET 1 {56 PER CLIP

INTO WOOD SUBSTRATE;

4 PER CLIP INTOALL

SEE SECTION E/9)

PRODUCT REVISED

EXTERIOR / \' OTHER SUBSTRATES) as complying with the Florida
Building Code
UBSTRATE
112" MAX SPACE —= FRAME SEALANT Y OTHERS BY OTHERS NOA-No. 25-0106.05
Expiration Date 01/06/2026
SECTION B4 SECTION ot By /i
SCALE: 3" =1-0 NS/ SCALE:3"=1-0 NS/ Miami-Dade Product Control JAN 3 U 2025
(WITH SLEEVE & CLIPS TURNED IN) {ARCHITECTURAL LOUVER WITHOUT PERIMETER
SLEEVE; INSTALLED INTO WOOQD, STEEL,
ALUMINUM, OR METAL STUD SUBSTRATE)
CERTIFICATION REVISIONS DATE: 19DEC, 2024 || SHEET Mo
ARROW UNITED EA-52 IMPACT REV.] DATE | DESCRIPTION BY ||DRAWN BY: WTC 50f 10
INDUSTRIES LOUVER SYSTEM CHECKED BY: o
A MESTEK COMPANY ISC@,%F: o l
450 RIVERSIDE DRIVE
WYALUSING, PA 18853 REV.
v o Bamet s i 1685-1
express written permlsston of MESTEK, Inc.



Carlos Utrera
New Stamp


SUBSTRATE

/ BY OTHERS
A

TUBE MULLION CLIP
ANCHOR PER ANCHOR
REQUIREMENTS TABLE

Wé/ ON SHEET 1 (1 PER CLIP)

MULLION CLIP

//_ ANCHORS (REF.)

=
@) E}

SUBSTRATE
BY OTHERS

SEALANT AND
BACKER ROD
BY OTHERS n

SCALE: 3"=1-0" N6/

(ARCHITECTURAL LOUVER WITHOUT PERIMETER
SLEEVE; INSTALLED INTO CONCRETE SUBSTRATE)

(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

B [ |
l
| /e |
L
| | z I :
| : i 1
|
' ) I Bl _ g AW “”///
E ' & ¢ K- He 7
! T @ A ﬂé ( /);’
[ O | \CENg & % Z
L_ A, ! v v 2,
v - = No. 59002 P
- =% *
A ey -
EXTERIOR V INTERIOR /\ EXTERIOR w INTERIOR a;’;’ﬂ / T ; Q/ \\\
(FOR DETAIL NOT SHOWN, ' AN
- i TONAL BT\
- SEE SECTION E/9) T — p \
] v 5/@ - c ] / TN
! o ! 4 PER ANGLE 2 | © JAN 30 2025
f — 16 15" (1 AT EAGH CORNER) g Vv ¢ ! 4
! | |
' i A T T 4 ! © _l
| | 0 - | ¢
[ ! Lo | . |
| l ‘ ‘ Y |
| i | I o i
{ i ! ! Hiew i
| i | | ~ |
| ] | | i
| 1 ] : : | o
| { |
| 18] ! : WaE | —
- O )
i I b 7
| | gz A =l
ol |H i
o ! = e
|~ TUBE MULLION CLIP = | | ? It
ANCHOR PER ANCHOR S -
REQUIREMENTS TABLE | !
/ ON SHEET 1 (1 PER CLIP) { E A
| @ |
l | S
| | ;
SUBSTRATE / U ! : % / RICE
BY OTHERS O SUBSTRATE ENGINEERING
: : 105 School Creek Trail
| | Luxemburg, Wl 54217
SECTION (2 : ? : POSITION OF THE SLEEVE PERIMETER SUPPORT SECTION (ca\ Phone: (920) S17-1042
4_1 ANGLE VARIES WITH SUBSTRATE THICKNESS a MAY | SCALE: 3"=1-0" (6 / ax: (920) 617-

\/\

(FOR DETAIL NOT SHOWN,
SEE SECTION E/9)

L
Lo

BE POSITIONED UNDER THE MULLION END

ANGLE ATTACHMENT SCREWS SHALL MOVE WITH

THROUGH THE MULLION END ANGLE AND SLEEVE.

(FOR DETAIL NOT SHOWN, SEE SECTION C1/5)

SUPPORT ANGLE, WHEN THIS OCCURS, THE SLEEVE (ARCH ITECTURAL LOUVER WITH PERIMETER
THE ANGLE & MAY BE POSITIONED TO RUN SLEEVE; INSTALLED INTO ALL SUBSTRATES)

www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila

Registration No: 59092

EA-52 IMPACT
LOUVER SYSTEM

PRODUCT REVISED
ARROW UNITED as complying with the Florida
INDUSTR‘ES Building Code
NOA-No. 25-0106.05
A MESTEK COMPANY . -
Expir 01/06/2026
450 RIVERSIDE DRIVE P ation Date —_—
WYALUSING, PA 18853 /!
This draving and the information contalned thereln is the properly of MESTEK, Inc. By A
and cannot be rep:;t‘i}xrx;::&ﬁx:?::gggzg,;o’&gasl!}lé:(uzolhers vilhout the M iami—Dade Product Control

REVISIONS DATE: 19DEC, 2004 || SHEET Now
REV.| DATE | DESCRIPTION BY _||DRAWN BY: e 6 of 10
CHECKED BY:
IMC
SCALE:
[ e ]
REV.



Carlos Utrera
New Stamp


SEALANT AND

SUBSTRATE BY

/ OTHERS

BACKER ROD
BY OTHERS

MULLION CLIP ANCHORS
PER ANCHOR
REQUIREMENTS TABLE
ON SHEET 1 (8 PER CLIP)

112" MAX SPACE —» |~

EXTERIOR

@),_._~

FRAME HEIGHT

112" MAX SPACE
(SHIM AS REQ'D)

W

Z
—

BLOCKING & BED OF
SEALANT BY OTHERS

SECTION

INTERIOR

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 25-0106.05

Expiration Date 01/06/2026
/l

By A

Miami-Dade Product Control

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: (920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila

Registration No: 59092

7 EQ. SPACES AT 13" 0.C.

S

/

MULLION CLIP ANCHORS PER
ANCHOR REQUIREMENTS
TABLE ON SHEET 1 (8 PER CLIP)

(o1

SCALE: 3"= 1-0"

(NON-ARCHITECTURAL LOUVER WITHOUT
PERIMETER SLEEVE & WITHOUT TUBE MULLION;

N

J/ \; SUBSTRATE

INSTALLED INTO ALL SUBSTRATES)

BY OTHERS

7 EQ. SPACES AT 13 O.C.

Pt

1

/

SEALANT AND
BACKER ROD
BY OTHERS

TLJ\JAN 3 0 2025

—~—
~

12

R

MULLION CLIP

It

_..‘ I -
A

_\

1/2" MAX SPACE
(SHIM AS REQ'D)

WELDS
(REF.)

SUBSTRATE BY

/ OTHERS

\__

efine]

© ©¢ 0 © © ©

L——-———— 7 EQ. SPACES AT 1§ 0.C. ————-—-‘

ANCHORS (REF.)

3
3 MIN.
prat——— 3 ot

i
L[

®

DRAIN

PAN
\_ SUBSTRATE
SECTION @ BY OTHERS
SCALE: 3"= 10" \7/

(NON-ARCHITECTURAL LOUVER WITH
PERIMETER SLEEVE & WITHOUT TUBE MULLION;
INSTALLED INTO ALL SUBSTRATES)

(FOR DETAIL NOT SHOWN, SEE SECTION D1/7)

LLf

[&]

<

o

w

=

&
oy INTER!
5 TERIOR
g2 B
5y
: &
i

v

AT

;

ENDS &

MIDDLE; EACH
EDGE OF ANGLE

POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE VARIES WITH SUBSTRATE
THICKNESS & MAY BE POSITIONED UNDER THE MULLION END SUPPORT ANGLE. WHEN
THIS OCCURS, THE SLEEVE ANGLE ATTACHMENT SCREWS SHALL MOVE WITH THE
ANGLE & MAY BE POSITIONED TO RUN THROUGH THE MULLION END ANGLE AND SLEEVE.

CERTIFICATION REVISIONS DATE: 19 DEC, 2024 || STEETNOw
ARROW UNITED EA-52 IMPACT REV.| DATE | DESCRIPTION BY ||DRAWNBY: e 7 of 10
INDUSTRIES LOUVER SYSTEM CHECKED BY: o
A MESTEK COMPANY 55 |
450 RIVERSIDE DRIVE
WYALUSING, PA 18853 REV.
“Tiis draving and Ihe Informalion contalned therain Is the proparty of MESTEK, Inc, 1 6 85- 1
and cannot be reproduced In whole or in part, nor delivered 1o others without the ot o i
express wiitten permission of MESTEK, Tnc,



Carlos Utrera
New Stamp


SEALANT AND

BAGKER ROD SUBSTRATE
[ BY OTHERS

/ BY OTHERS
A

SUBSTRATE
BY OTHERS

TUBE MULLION CLIP
ANCHOR PER ANCHOR
REQUIREMENTS TABLE

WYALUSING, PA 18853

This drawing and the Information contalned therein Is the property of MESTEK, Inc,
and cannot be reproduced in whole or In part, nor delivered 1o others without the
express viritten permission of MESTEK, Inc,

1685-1

/ ;O o ;
TUBE MULLION CLIP '
& ANCHORS PER ANCHOR O @/
REQUIREMENTS TABLE
ON SHEET 1 =
] oo ‘
i 2\V =
s | o), =
é E \:y\ @ g b\.} L0808 {wm | Py [ @
| © | e AN
= [ i L Vo T T T L T T @
| O
[
L_ /\/ © O
Y
O
V i\ o O ;
EXTERIOR INTERIOR T o EXTERIOR INTERIOR
Amia
1 1
DS /! R DO
-
: I 1% _\/\_{_ /_“
w
T 1 I
w
u ! (FOR DETAIL NOT SHOWN, |
z ] — — — " SEE SECTION F1/9) JAN 3 0 2025 !
|
: {
I o !
| ¢ T
| T -
, ) 1
| - |
: MULLION CLIP d }
i ANCHORS (REF.) / :
!
{ !
weE @ @9
85 — 7_. ; 7_‘
5 | W %
22 | 2 l
- w
o | O
4 1 f—— - R jl - _;
T O I I IR TUBE MULL‘ON CLlp @ /__ TUBE MULL]ON CLIP
ANGHORS PER ANGHOR ANCHOR PER ANCHOR
REQUIREMENTS TABLE REQUIREMENTS TABLE
/ 7 ON SHEET 1 7/ / ON SHEET 1 (1 PER GLIP)
\ LOCKIN F \ SUBSTRA Q@a SUBSTRATE / H
SEALANT By OTHERS SY OYHERS. PRODUIC'T REt‘I{ItﬁEII?I g o OTHERS
as complying wi e Florida
Building Code I MCE
SECTION /D3 NOA-No. 25-0106.05 . ENGINEERING
SCALE: 3"=10" &/ Expiration Date 01/06/2026 ) 108 School Creck e SECTION, @
(NON-ARCHITECTURAL LOUVER WITHOUT B /) g;@gfgg’gj@gg” ’
PERIMETER SLEEVE AND WITH TUBE MULLION; M S Dade Produci Contrai v ioo-In.com (NON-ARCHITECTURAL LOUVER WITHOUT
INSTALLED INTO WOOD, STEEL, ALUMINUM, & (FOR DETAIL NOT SHOWN, Florida Firm No: F-01000005061 PERIMETER SLEEVE & WITH TUBE MULLION,;
METAL STUD SUBSTRATES) SEE SECTION F1/9) %Z?iggaéeﬁ;m}gofizaﬂoni #9090 INSTALLED INTO CONCRETE SUBSTRATE)
(FOR DETAIL NOT SHOWN, SEE SECTION D1/7) Registration No: 59092 (FOR DETAIL NOT SHOWN, SEE SECTION D3/8)
CERTIFICATION REVISIONS DATE: 19 DEC, 2024 || SHEET Nos
ARROW UNITED EA-52 IMPACT REV.] DATE | DESCRIPTION BY |[DRAWNBY: wTC ’ 8 of 10
INDUSTRIES LOUVER SYSTEM CHECKED BY: o
A MESTEK COMPANY [SC‘}BEE: o l
450 RIVERSIDE DRIVE R—EV



Carlos Utrera
New Stamp


4 PER ANGLE > 1‘ 2
(1 AT EACH CORNER) " 3715 5" ‘__' y
SUBSTRATE
BY OTHERS \/\ T é /_@
A .=
SEALANT AND )/ @8] ;
BAGKER ROD (Ney |
BY OTHERS & I S
] g
| Lo 1| ™ %
— jvwij L | | L1 (LY
oy | IR ) / — —9 | !
] A © { : ; } B LJ g
; @ : o o4
N = | | | | .
e = L ™ —1@ ® ‘B P20
% | ~ = ! | | L< < : <
= i | T t =
2 | § . e ||« O | | O\ N\ D
" ‘: o) i @ 5 I { H 3
L H T YO | | EZ[ 3
I | d
\/\ { [
\/\ J } S : EXTERIOR _,”__ Lax EXTERIOR EXTERIOR
| |
\/\ i ! SECTION EN SECTION CFN SECTION CE2Y
eremon o PO | 5 SCALE: 3"=1-0" 9/ SCALE: 3" = 1-0" 9/ SCALE: 3" = 1-0" <8/
| | o]
: : e (ARCHITECTURAL LOUVER (NON-ARCHITECTURAL (NON-ARCHITECTURAL LOUVER
} & : MULLION) LOUVER WITH TUBE MULLION) WITH NO TUBE MULLION)
- | I
o
m \/\ | |
2
DEPTH AS REQ'D TO
- (FOR DETAIL NOT SHOWN, O o CPENING
SEE SECTION F1/9) SUBSTRATE }<_ 3.000 _>{ [4_ 3.000 _—.l
1.500 MIN
J
e 0.125
- 4,000 0,188 —s—| f=—o 4,000 0.250 —= f=—r
(5) SLEEVE l l
L a o
§§ st | TUBE MULLION TUBE MULLION
P (USED WITH (USED WITH
‘22 ; 4824 | 4824 ' NON-ARCHITECTURAL NON-ARCHITECTURAL
8Z LOUVERS) LOUVERS)
Ff P 0.078 0.051 —sff— T
2297 VLI
2.250 4,767 ] \\“ [/
f RICE l ‘ oggo f=— 3.000 ——] \X\\\ﬁ | ¥ Hs /////
ENGINEERING 1 - 0.080 — '2‘\ T\ (4,, 7
hool k Trail .
/ omonbora, W1 54017 (® HEAD @) SILL PAN (6) BLADE S 7
Phone: (920) 617-1042 I N
Fax: (920) 617-1100 =
/ www.rice-inc.com 5,078 ! 5.000 =
Florida Firm No: F-01000005061 260 —a] foar —
SB%BS:(I—SQQS Cgrrtliﬁiatgmof Aou.thorization: #9090 _ 3.470 0:260 - .
SECTION (55 Resation No: 83002 R oo | Z
SCALE: 3"=1-0" \9/ ' ; S
POSITION OF THE SLEEVE PERIMETER SUPPORT 0.078 < AP X / CD\ N
ANGLE VARIES WITH SUBSTRATE THICKNESS & MAY ' 4 S AT 7 ) (
BE POSITIONED UNDER THE MULLION END (NON-ARCHITECTURAL LOUVER WITH 5290 r 1.600 — TUBE MULLION 7 / S/ONAL E«‘;’ \\\\
SUPPORT ANGLE. WHEN THIS OCCURS, THE SLEEVE | PERIMETER SLEEVE & WITH TUBE MULLION; //// \\\\
ANGLE ATTAGHMENT SCREWS SHALL MOVE WITH INSTALLED INTO ALL SUBSTRATES) T ® (USED WITH T
THE ANGLE & MAY BE POSITIONED TO RUN @) JAMB 1.250 @ BLADE SUPPORT ARCHITECTURAL
THROUGH THE MULLION END ANGLE AND SLEEVE, (FOR DETAIL NOT SHOWN, SEE SECTION D¥/8) K @ SILL — BRACKET LOUVERS) J AN 3 U 2025
PRODUCT REVISED REVISIONS DATE: 19DEC, 2024 || SHEET Nos
ARROW UNITED ;Bas _f:_mplgindg with the Florida=— ] EA-52 IMPACT REV.]| DATE | DESCRIPTION BY ||[DRAWNBY: WiTC 9 of 10
uilding Code
INDUSTRIES maading Code . 1106.05 LOUVER SYSTEM SHECKED Y
AMESTEK COMPANY Expiration Date 01/06/2026 [S%E o |
450 RIVERSIDE DRIVE _—
WYALUSING, PA 18853 / REV.
“THis drawing and the Information contained thereln Is tha proparly of MESTEK, inc, By A 1 685-1
and cannot be reproduced in whole or in part, nor delivered to others vdthout the Miami_Dade Product control Pper—
express written permisston of MESTEK, Inc.



Carlos Utrera
New Stamp


4.000 RICE ITEM # ITEM DESCRIPTION MANUFACTURER/NOTES
; 1125 12.000 PARTS
SPACES .\ 0.750 ENGINEERING
0.750 | 9/32" DIA. HOLES 4 7 SPACES @ 1.5 = ) 105 School Oreek Trai 1 HEAD 6061-T6 ALUMINUM
T- @ & | # . Luxemburg, W1 54217 2 [silL 6061-T6 ALUMINUM
3.000 ® SR Ry @ e @ FF__’hoﬂ(%i 2(3)234;3117{(1)842 3 SILL PAN 5062-H32 ALUMINUM
ax: -
* t 2.250 f 3.000 W fico-inG.com 4 |oams 6061-T6 ALUMINUM
— MIN. : !
] D D \L D o ® Florida Firm No: F-01000005061 5 SLEEVE 5052-H32 ALUMINUM
1 1375 P, l Certificate of Authorization: #9090 6 BLADE 6061-T6 ALUMINUM
! ! ! ! I ! L Wayne K. Helmil
0.500 ayne a 7 BLADE SUPPORT BRACKET 6061-T6 ALUMINU
~|  2.000 . o | 0,250 Registration No: 59092 L 0 on o o T6 ALUMINUM
9/32" DIA. HOLES 0575 0.250 8A TUBE MULLION (USED WITH NON-ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM
i ‘ - 0. .
0.750 { 88 | TUBE MULLION (USED WITH NON-ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM
@\\ 9/16" DIA. @ D * 9 TUBE MULLION (USED WITH ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM
40002000 I HOLES @ @ @ @ @ T @ o @ { 2000 10 [MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
{ 0.875 + 11 MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
@ ! I 12 |MULLION END CLIP FOR SLEEVE MOUNT LOUVERS 6061-T6 ALUMINUM
R ] 7SPACES @ 1.5"0.C. \i 1 13 |MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
‘ 0.750 0.750 14 LOUVER JAMB TO SUBSTRATE GLIP 6063-T5 ALUMINUM
6063-T5 ALUMINUM (WITHIN 4" OF SLEEVE CORNERS OR
MULLION END INSTALLATION CLIP (13 MULLION END INSTALLATION CLIP 156 |SLEEVE OR TUBE MULLION TO LOUVER JAMB CLIP TUBE MULLION ENDS AND MAX 8" 0.C.)
16  |TUBE MULLION TO LOUVER BLADE ANGLE (ARCHITECTURAL LOUVERS) 6063-T5 ALUMINUM
4,000 9/32' DIA.  43/32 DIA. HOLE FOR 0125 17 |SLEEVE SUPPORT ANGLE 6063-T5 ALUMINUM
—= 2000 *}L HOLES ALTERNATIVE BOLT, 0 ' 18 LOUVER JAMB TO SUBSTRATE CLIP 6063-T5 ALUMINUM
1 0.250 FIELD DRILLED, i
r CENTERED IN CLIP. 1.500 19 MULLION COVER 6063-T5 ALUMINUM
1,500 p— - T i 1 20 |CONTINUOUS SUPPORT ANGLE 6063-T5 ALUMINUM
3.000 e T / 2000 * 1500 21 CONTINUOUS SUPPORT ANGLE 6063-T5 ALUMINUM
\ } G @ “_r‘(‘;?go : 9/32' DIA, MISC. FASTENERS
| o Dia i * . . HOLES AL EAch 25 |1/4-14 X 3/4" SELF TAP/DRILL SCREW 2 PER CLIP
& of i . WITHIN 4" OF CORNERS & SLEEVE SPLICES, MAX 8" 0.C.
26 |1/4-14 X 3/4” SELF TAP/DRILL SCREW (CLUSTERED AT MULLION ENDS PER DETAILS)
Jf-q 2,000 t—~ ] fe— 0,250 '
| 2,500 —| }I\I\? ?IESDD /@ 27 |1/4-14 X 3/4" SELF TAP/DRILL SCREW 8" 0.C. PER SECTIONS
0.750 . " .
0.500 (1" MIN) 9/32" DIA. 28 1/4-14 X 3/4" SELF TAP/DRILL SCREW 4 AT HEAD & 2 PER BLADE
} — @ (TYP) ) Jﬁ — 2.000 “»l 0250 HOLE 8" © 9 \a‘lﬂxﬂ ! “Hﬂ Lty
2000 \A f{g&gll\- Py MAX O.C. . 29 12" X 5" HEX HEAD STAINLESS STEEL NUT & BQ\ . . & £, ///] 2 PER MULLION END
4,000 m " N A €
| f 0.375 30 [1/4-14 X 34" SELF TAPIDRILL SCREW N -\‘f/é?,‘?‘\%? ¥~ [10PERCLIP
AP 0.625 31 1414 X /4" SELF TAPIDRILL SCREW S &8 /7 A CENG, = [trPercup
T I : Ly
— 32 |NO.7X 1/2 SMS SCREW S/ . canha N = |WITHIN 6 OF CORNERS & 24' MAX O.C.
t . = NO.—OoYUu2 e
HOLES Zgg\[{/—é\/lRUé_::lA%r\éTAor\j oL 23 1/4-44 X 3/4* SELF TAP/DRILL SCREW = & , o %E%é»@H@R SPACING/PRESSURE TABLE FOR SPACING
E LD r—— .
(1) MULLION END INSTALLATION CLIP LOUVER JAMB TO SUBSTRATE CLIP (LENGTH = CONTINUOUS) E e =
e N
&
n |
9/32" DIA. HOLES ‘>_| r.<_ 0.250 9/32" DIA, HOLES 2 Q/ ~T
(T{IOT REQ'D WHEN (NOT REQ'D WHEN / ~ pL OR\D > Q‘ = 0125
0.250 TO SLEEVE) N
0.250 TO SLEEVE) T J: // \98‘[ ﬁ‘g
| | 1 et 717, TONAL
5,000 0.250 y ; 2.000 : - 0.125 7/
! T Wy
T + 2,000" TO 1.500"
0.750 o 2000 { b / 3.000" I T TO 3.000"
r—“ ® } ors0 —] 2000 |=— 4 1,500 J f
oo 2000 . f @) SLEEVE SUPPORT ® T T om0 f
I ‘ ANGLE f JAN 3 0 2025
Ll P e 2500 ——|  — 1.000 (LENGTH = CONTINUOUS)
0.500 0250 e 2500 =] . ASREQD r——-—>— CONTINUOUS 'u——~——-»~ CONTINUOUS
YRy — 2.000 0.500 IN FIELD —»1 k— 0.250
AS REQ'D FOR PROPER | ryp) T t‘“ — 2.000 i I
L_‘»_ FIT WITH TUBE & SLEEVE < 3.000 — 1.750 1,500 1.500
(NO LESS THAN 1) ;3 @ T 0.079 I —( i i
. , 0.829 9/32" DIA. _,/
1 ! Qg ‘[ HOLES
oz DA | T T , |
HOLES
MULLION END CLIP FOR SLEEVE OR TUBE MULLION MULLION LOUVER JAMB TO SUBSTRATE CLIP CONTINUOUS SUPPORT ANGLE ) CONTINUOUS SUPPORT ANGLE
® SLEEVE MOUNT LOUVERS ® TO LOUVER JAMB CLIP COVER 2" LEG SHALL BE SECURED 1.5" LEG SHALL BE SECURED
TO THE LOUVER JAMB TO THE LOUVER JAMB
PRODUCT REVISED EA5D | C REVISIONS OATE: t9DEC, 2004 || ST N
as complying with the Florida - MPACT REV.] DATE | DESCRIPTION BY ||DRAWNBY: 10 of 10
Suilding Code LOUVER SYSTEM e
wwuw.awv.com NOA-No. 25-0106.05 CHECKED BY: G
A MESTEK COMPANY . 01/06/2026 SCALE: =~ ‘
219 S. CHURCH STREET, SUITE 200 Expiration Date T /00/ 2020 g1
BOWLING GREEN, OHIO 43402 B /7 REV.
g i ned tharomn 1s the e y
e s Miami-Dade Product Control 34656-STD
express written permission of MESTEK, Inc.



Carlos Utrera
New Stamp


